Turbulent Flows

Stephen B. Pope

Cambridge University Press (2000)

Solution to Exercise 3.1

Prepared by: T. Otobe

In general, if Q(U) is a function of U, the mean of Q(U) is given by Eq.(3.20)

$$\langle Q(U)\rangle \equiv \int_{-\infty}^{\infty} Q(V)f(V) \, dV.$$
 (1)

Date: 4/18/11

Then, we have

$$\langle a \rangle = \int_{-\infty}^{\infty} a f(V) \, dV = a \int_{-\infty}^{\infty} f(V) \, dV = a,$$
 (2)

$$\langle aQ \rangle = \int_{-\infty}^{\infty} aQ(V)f(V) \, dV = a \int_{-\infty}^{\infty} Q(V)f(V) \, dV = a \langle Q \rangle$$
 (3)

and

$$\langle Q + R \rangle = \int_{-\infty}^{\infty} (Q(V) + R(V)) f(V) \, dV$$

$$= \int_{-\infty}^{\infty} Q(V) f(V) \, dV + \int_{-\infty}^{\infty} R(V) f(V) \, dV$$

$$= \langle Q \rangle + \langle R \rangle. \tag{4}$$

Since $\langle Q \rangle$ and $\langle R \rangle$ are constants, by the equation (2), we get $\langle \langle Q \rangle \rangle = \langle Q \rangle$ and $\langle \langle Q \rangle \langle R \rangle \rangle = \langle Q \rangle \langle R \rangle$.

By the equations (3) and (4), the mean of the fluctuation in Q is calculated by

$$\langle q \rangle \equiv \langle Q - \langle Q \rangle \rangle = \langle Q + \langle -Q \rangle \rangle = \langle Q \rangle + \langle -Q \rangle = \langle Q \rangle - \langle Q \rangle = 0.$$
 (5)

Since $\langle R \rangle$ is a constant, by the equations (3) and (5), $\langle q \langle R \rangle \rangle = \langle q \rangle \langle R \rangle = 0$.

This work is licensed under the Creative Commons Attribution-NonCommercial-ShareAlike License. To view a copy of this license, visit http://creativecommons.org/licenses/by-nc-sa/1.0 or send a letter to Creative Commons, 559 Nathan Abbott Way, Stanford, California 94305, USA.